


PRT-00629228

x2

PRT-00742027

x4

PRT-00626129

x2

Stückliste / Parts list / Seznam dílů / Lista części / Комплектация / 
Liste de pieces 

2

PRT-00451330

x1

ASM-0020463

x1
ASM-0014306

x1

ASM-0020504

x1

ASM-0020195

x1

ASM-0014292

x1
ASM-0020498

x1

ASM-0014271

x1
ASM-0014377

x1
ASM-00143413

x2
PRT-00625519

x1

ASM-00159110

x1
ASM-00143312

x2
PRT-00356118

x1
PRT-00627221

x4

PRT-00074715

x2

ASM-00142811

x1

ASM-0020169

x1
ASM-00204714

x2
PRT-00654120

x1
PRT-00666125

x1

PRT-00628117

x2
PRT-00094123

x4

PRT-00443722

x2

PRT-00003816

x1
PRT-00665924

x1
PRT-00627326

x2



PRT-00058243

x6
PRT-00357150

x1

PRT-00015849

x43

PRT-00035644

x6

PRT-00748355

x1

PRT-00132546

x2

PRT-00017147

x5

PRT-00183645

x4

PRT-00202253

x2

PRT-00232451

x2
D860

x22

PRT-00045952

x2
PRT-006656 L-796cm58

x1

PRT-006655 L-1128cm57

x1

PRT-00197159

x1

PRT-006657 L-651cm56

x1

PRT-00143654

x4

Stückliste / Parts list / Seznam dílů / Lista części / Комплектация / 
Liste de pieces 

3

PRT-00452133

x1

PRT-00451132

x1

PRT-00451931

x1
PRT-003565 17mm40

x6

PRT-00144037

x51

PRT-00451036

x2

PRT-00626334

x2

PRT-00451635

x1
PRT-000783 10mm38

x1

PRT-001893 13mm39

x4
PRT-002612 20mm41

x3
PRT-00356248

x31

PRT-00084842

x8



Stückliste / Parts list / Seznam dílů / Lista części / Комплектация / 
Liste de pieces 

4

M6 x 1265

x2

M862

x12

D1061

x114

M10-S64

x30

M10 x 7073

x19

M8 x 7070

x2

M1063

x28
M8 x 6569

x6
M10 x 7574

x7

M10x6567

x1

M8 x 6068

x2
M10 x 8075

x4

M8 x 2566

x2
M10 x 2071

x4

M10 x 4572

x21
M10 x 9076

x2



1 ASM-001427 x1
37 PRT-001440 6mm x2
43 PRT-000582 x1
48 PRT-003562 x1
49 PRT-000158 x2
61  D10 x2
64 M10-S x1
72 M10 x 45 x1

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

5

48

72

61 49

49

61

64

1

43

37

37



37 PRT-001440 6mm x6
48 PRT-003562 x3
49 PRT-000158 x6
61  D10 x6
64 M10-S x3
72 M10 x 45 x3

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

6

61

48 37

72

61

49

72

61
49

37

48
37

49

37

64



Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

7

28 PRT-006292 x2
32 PRT-004511 x1
36 PRT-004510 x2
42 PRT-000848 x4
54 PRT-001436 x2
61  D10 x4
63 M10 x2
73  M10 x 70 x2

54

36

42

63 61

54

61

73

61

73

63
61

28

42

32



11 ASM-001428 x1
16 PRT-000038 x1
30 PRT-004513 x1
35 PRT-004516 x1
42 PRT-000848 x2
44 PRT-000356 x2
51 PRT-002324 x2
61 D10 x5
63 M10 x3
72 M10 x 45 x1
76 M10 x 90 x2

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

8

51

63
61

11

72

16

61

63

61

76

30

35

42
51

44

42

44



21 PRT-006272 x4
33 PRT-004521 x1
40 PRT-003565 17mm x4
48 PRT-003562 x2
61 D10 x4
64 M10-S x2
73 M10 x 70 x2

61

73

61

21

21

61
64

40

48

40

33

73

61
21

40

48

40

21

64

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

9



62

62
60

24

25

60

69

60

70

70

60

60

69

62
60

60

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

10

24 PRT-006659 x1
25 PRT-006661 x1
60 D8 x8
62 M8 x4
69 M8 x 65 x2
70 M8 x 70 x2



48

37
48

41

37

48

37

7

75

61

49

49

61
64

72

61
49

61

64

61

64
49

61 72

37
48

37

37

37

 20 

7 ASM-001437 x1
37 PRT-001440 6mm x7
41 PRT-002612 20mm x1
48 PRT-003562 x4
49 PRT-000158 x4
61 D10 x6
64 M10-S x3
72 M10 x 45 x2
75 M10 x 80 x1

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

11



Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

12

22 PRT-004437 x2
37 PRT-001440 6mm x3
41 PRT-002612 20mm x1
48 PRT-003562 x2
49 PRT-000158 x2
61 D10 x2
64 M10-S x1
75 M10 x 80 x1

61

75

61

49

22

37

48

37

41
48

37

22 49

64



19 PRT-006255 x1
37 PRT-001440 6mm x3
41 PRT-002612 20mm x1
48 PRT-003562 x2
49 PRT-000158 x2
61 D10 x2
64 M10-S x1
75 M10 x 80 x1

48

19

75

61

49

49

61
64

37 48

37

41

37

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

13



Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

14

8

2

61

63

60

69

62
60

67

2 ASM-001429 x1
8 ASM-002049 x1

60 D8 x4
61 D10 x1
62 M8 x2
63 M10 -S x1
67 M10x65 x1
69 M8 x 65 x2



31 PRT-004519 x1
43 PRT-000582 x2
44 PRT-000356 x2
60 D8 x4
61 D10 x4
62 M8 x2
63  M10 x2
69 M8 x 65 x2
73 M10 x 70 x2

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

15

61

62
60

60

69

61

73

43

43

61

63

44

63

61 44

31

73



61

54

6

44

34

42

29

62 60

60
68

37

48

37

49

61 64

72

49

6 ASM-001430 x1
29 PRT-006261 x1
34 PRT-006263 x1
37 PRT-001440 6mm x2
42 PRT-000848 x1
44 PRT-000356 x1
48 PRT-003562 x1
49 PRT-000158 x2
54 PRT-001436 x1
60 D8 x2
61 D10 x2
62 M8 x1
64 M10-S x1
68 M8 x 60 x1
72 M10 x 45 x1

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

16



61

54

3

44

34

42

29

68
60

60
62

37
48

37

64 61

49

49

72

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

17

3 ASM-002046 x1
29 PRT-006261 x1
34 PRT-006263 x1
37 PRT-001440 6mm x2
42 PRT-000848 x1
44 PRT-000356 x1
48 PRT-003562 x1
49 PRT-000158 x2
54 PRT-001436 x1
60 D8 x2
61 D10 x2
62 M8 x1
64 M10-S x1
68 M8 x 60 x1
72 M10 x 45 x1



61

61

73
61

73

63

61

63

61 D10 x4
63 M10 x2
73 M10 x 70 x2

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

18



Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

19

12 ASM-001433 x1
13 ASM-001434 x1
37 PRT-001440 6mm x2
45 PRT-001836 x2
48 PRT-003562 x1
49 PRT-000158 x2
53 PRT-002022 x1
61 D10 x6
64 M10-S x2
72 M10 x 45 x1
74 M10 x 75 x1

13

37 48

37

49
61

72

45

64

61
61

49
61

64

45

61

61

74

53

12



37

53

45

12
64

61

61

74

45

64
61

49

61

61

13

49

61

72

37

48

12 ASM-001433 x1
13 ASM-001434 x1
37 PRT-001440 6mm x2
45 PRT-001836 x2
48 PRT-003562 x1
49 PRT-000158 x2
53 PRT-002022 x1
61 D10 x6
64 M10-S x2
72 M10 x 45 x1
74 M10 x 75 x1

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

20



14

14

14 ASM-002047 x2

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

21



Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

22

14 ASM-002047 x1
23 PRT-000941 x2
27 PRT-007420 x2
39 PRT-001893 13mm x2
48 PRT-003562 x1
61 D10 x8
63 M10 x3
64 M10-S x1
73 M10 x 70 x4

64

73

61
23

27

39

48 39

27

23

61
63

14

73

61

61



61

63
61

23

27

64
61

14

39 48

39

27

61

73

48

73

14 ASM-002047 x1
23 PRT-000941 x2
27 PRT-007420 x2
39 PRT-001893 13mm x2
48 PRT-003562 x1
61 D10 x8
63 M10 x3
64 M10-S x1
73 M10 x 70 x4

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

23



63

73

61

5

73

61

61

63
61

4

4 ASM-002050 x1
5 ASM-002019 x1

61 D10 x4
63 M10 x2
73 M10 x 70 x2

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

24



17 PRT-006281 x2
26 PRT-006273 x2
61 D10 x4
63 M10 x4
71 M10 x 20 x4

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

25

71

26

61

63 63

61

26

17
17

71



Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

26

73

9

63

61

20

43

59

52

52

38

74

18

9 ASM-002016 x1
18 PRT-003561 x1
20 PRT-006541 x1
38 PRT-000783 10mm x1
43 PRT-000582 x1
52 PRT-000459 x2
59 PRT-001971 x1
61 D10 x2
63 M10 x2
73 M10 x 70 x1
74 M10 x 75 x1



37 PRT-001440 6mm x2
48 PRT-003562 x1
49 PRT-000158 x2
61 D10 x2
64 M10-S x1
72 M10 x 45 x1

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

27

48

64
61

49

49

61

72

37

37



74

63

61
43

63

61

74

61
61

63

74

61

43

61

63

61

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

28

43 PRT-000582 x2
61 D10 x8
63 M10 x4
74 M10 x 75 x4



57 PRT-006655 L-1128cm x1

57

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

29

57

1

2

35

6

7

8
9

10

4



37

64 61

49

49

61 72

48

37

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

30

61

37

37

48

64

49

49
72

37 PRT-001440 6mm x4
48 PRT-003562 x2
49 PRT-000158 x4
61 D10 x4
64 M10-S x2
72 M10 x 45 x2

1

2



Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

31

37 PRT-001440 6mm x2
48 PRT-003562 x1
49 PRT-000158 x2
61 D10 x2
64 M10-S x1
72 M10 x 45 x1

3

4

61

72
61

49

48

37

37

49

64



64

61

72

49

37

37

61

48
37 PRT-001440 6mm x4
48 PRT-003562 x2
49 PRT-000158 x2
61 D10 x4
64 M10-S x2
72 M10 x 45 x2

5

6

61

48

37
37

64 61 49

72

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

32



61

64
61

37 48

37

49

61
72

75

61

37

40

40

37

48

49

64

37 PRT-001440 6mm x4
40 PRT-003565 17mm x2
48 PRT-003562 x2
49 PRT-000158 x3
61 D10 x4
64 M10-S x2
72 M10 x 45 x1
75 M10 x 80 x1

7

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

33



61

64

61

49

37

48
37

7249

37 PRT-001440 6mm x2
48 PRT-003562 x2
49 PRT-000158 x2
61 D10 x4
64 M10-S x1
72 M10 x 45 x1

8

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

34



61

64
61

49

37

37

49 72

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

35

37

72 61

49

37

49

61 64

48

37 PRT-001440 6mm x4
48 PRT-003562 x2
49 PRT-000158 x4
61 D10 x4
64 M10-S x2
72 M10 x 45 x2

9

10



58

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

36

58

58 PRT-006656 L-793cm x1
62 M8 x2
66 M8 x 25 x2

62
66



56

56

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

37

47 PRT-000171 x1
50 PRT-003571 x1
55 PRT-007483 x1
56 PRT-006657 L-651cm x1
61 D10 x1
65 M6 x 12 x2

47

65 65
50

61

55



Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

38

46

47

15

47

15

47

47

10

46

10 ASM-001591 x1
15 PRT-000747 x2
46 PRT-001325 x2
47 PRT-000171 x4


